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CLASS-XI (HUMANITIES)

SOCIAL SCIENCE

SECTION-A [1x30=30]
Q1. Which one of the following aspects was the base of the Bretton Woods system?
(a). Military system (b).Cultural system (c).Economic system.  (d). Historical system

Q2. Which one of the following books was printed first by Gutenberg?
(a) Chapbooks. (b) Amar Jivan
(c) Bible. (d) Almanac

Q3. Which on of the following is not true about the female allegory of France?
(a) She was named Marianne. (b) She took part in the French Revolution
(c) She was a symbol of national unity. (d) Here image were marked on coins and stamps.

Q4. Arrange the following statements in sequential order based on the events that shaped the
Non-cooperation movement. 1

(i) General Dyer opened fire at the large crowd gathered in the enclosed ground of
Jallianwalla Bagh.

(i) "Forced recruitment™ carried out by the British government and the economic hardships
faced by the people during the First World War.

(iv)The defeat of the Ottoman Emperor of Turkey led to the formation of the Khilafat
movement.

(iv) Gandhiji launched a nationwide satyagraha against the Rowlatt act.

Options:

(a) (iv), (iii), (if), (i)

(b) (i), (i), (iv), (iii)

(c) (i). (iv). (iii). (i)

(d) (i), (i), (iii), (iv)

Q5. The incident of Chauri-Chaura took place during
(@) Civil disobedience (b) Non Cooperation
(c) Quit India Movement (d) During protest against Simon Commission.

Q6. Who set up the ‘Oudh Kisan Sabha’?

(a) Alluri Sitaram Raju (b) Jawahar Lai Nehru and Baba Ramchandra
(c) Jawaharlal Nehru and Shaukat Ali (d) Mahatma Gandhi

Q7. Which province did not boycott the council election?

(a) Madras (b) Hyderabad

(c) Ahmadabad (d) Lucknow

Q8. His. Pick out the correct definition to define the term ‘Plebiscite’.

(a) Plebiscite is a direct vote by which only the female members of a region are asked to
accept or reject a proposal.

(b) Plebiscite is a direct vote by the female members of a matriarchal system to accept or
reject a proposal.

(c) Plebiscite is a direct vote by only a chosen few from the total population of a parti-cular
region to accept or reject a proposal.

(d) Plebiscite is a direct vote by which all the citizens of a region are asked to accept or reject
a proposal.



Q9.Which one of the following languages was declared as the official language of Sri Lanka
by an Act passed in 19567

(a) Tamil (b) Sinhala

(c) Hindi (d) English

Q10. Which one of the following options prove that India is a quasi-federal state?
I. More powers with Centre

I1. Residuary subjects with Centre

I11. Equal subjects with Centre and States

V. Currency and Railways with Centre

Options:
@1, Hland IV (b) I, Il and IV
(©) I, Iland IV () 1, M and I

Q11.Which one of the following statements is not true?

(a) The Constitution prohibits discrimination on the grounds of religion.

(b) The Constitution allows us to practice, profess and propagate any religion or not to follow
any.

(c) The Constitution of India allows the state to intervene in the matters of religion in order to
ensure equality within religious communities.

(d) As per the Constitution, religion can never be separated from politics.

Q12. There are two statements marked as Assertion (A) and Reason (R). Read both the
statements and choose the correct option as your answer.

Assertion (A): India has multiparty system.

Reason (R): It is because of the social and geographical diversities in India.

Options:(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

Q13. Which one of the following is not true about a democratic government?
(a) Democratic government is a legitimate government.

(b) Democratic government is a responsive government.

(c) Democratic government is the people's own Government.

(d) It does not allow room to correct mistakes

Q14. What percentage of the population of Belgium lives in the Flemish region?

(@) 40%. (b) 80%. (c) 59%. (d) 70%

Q15) Which of the following is a Secular State?

(a) Pakistan (b) Srilanka
(c) India (d) England

Q16. As per constitution of India the valid age to become president is
(a) .30 years (b).25 years  (c).35years (d) .60 years

Q17. Mustard, wheat,grams are all............. crops.
(a).Rabi (b).Kharif (c).Zayad (d).Plantation
Q18.The Himalayn brown bear falls under the............. category of IUCN Classification.

(@).Extinct  (b).Rare (c).Endemic (d).Endangered



Q19. Choose the correctly matched pair.

(a) Primitive subsistence farming practised on large patches of land
(b) Intensive subsistence farming single crop production farming
(c) Commercial farming use of higher doses of modern inputs

(d) Plantation farming practised on small patches of land

Q20. When was the Wildlife Protection Act implemented?
(a) 1972 (b) 1978 (c) 1980 (d) 1985

Q21. Mention the main reason for land degradation in states like Jharkhand, Chhattisgarh and
Odisha.
(a) Over-grazing (b) mining (c) Mineral processing (d) over irrigation

Q22."M" gave his friend clues about a type of soil that suits for growing cotton.
Which of the following clues provided by "M" would be most useful in identifying the ideal
type of soil? 1

Clues:

(i) It is well-known for its capacity to hold moisture.

(i) It turns yellow when it is hydrated.

(iii) It is rich in kankur and bhangar nodules.

(iv) It is a well-drained loamy soil.

(@).Clue (i)

(b).Clue (i) and (iii)

(c).Clue (i) and (ii)

(d).Clue (iv)

Q23. Which one of the following is a Rabi crop?

(@).Rice (b).Gram

(c).Millets (d).Cotton

Q24.Which one of the following is announced by the government in support of a crop?
(@) .Maximum support price. (b), Minimum support price

(c). Moderate support price (d).Influential support price

Q25. Which among the following cannot be purchased through money. Choose the correct
I. Full protection from infectious diseases

I1. A pollution-free atmosphere

I11. High quality education

IV. A luxury home

Options:
(@) land HI (b) Il and IV
(c) land IV (d) land Il

Q26. Evaluate the impacts of opening foreign trade on the global economy by identifying the
appropriate statements among the following options: 1

(i) The choice of goods in the markets increase.

(i) Producers from two countries closely compete against each other despite the distance
between their locations.

(iii) Foreign trade thus results in connecting the markets or integration of markets in different
countries.

(iv) The quality of the product is always good.

Options:

(a) Statements (1) and (ii) are appropriate

(c) All the statements are appropriate

(b) Statements (i), (ii) and (iii) are appropriate

(d) Only statement (iv) is appropriate



Q27. If there in a disruption by transporters and lorries refuse to transport vegetables, mille
rural areas to urban areas, food wil become scarce in urban areas, whereas farmers will be
unable to sell their products .

Which of the following sectors will be affected due to this situation stated above?

(a) Primary and Secondary

(b) Secondary and Tertiary

(c) Tertiary, Primary and Secondary

(d) Tertiary and Primary

Q28.Cargill Foods, a very large MNC, is the largest producer of edible oil in India. Which
one these countries does it belong to?

(a) The United States of America (b) Great Britain

(c) India (d) France

Q29. In which one of the following ways has 'information and communication technology'
stimulat the 'globalisation’ process the most?

(a) Access foods across countries

(b) Access services across countries

(c) Access raw material across countries

(d) Access information instantly across countries

Q30........... is a facilitiy that the borrower deposits with the lender as guarantee against the
repayment of loan/credit.
(@) .Colleteral (b) Fixed deposit
(c). Demand deposit (d).Recurring deposit
SECTIONB
Short answer type questions: [4x3=12]

Q31.Briefly trace the process of the unification of Germany.
Or
Mention different aspects of life in which women are discriminated or disadvantaged in
India.

Q32. Write some characteristics of Black Soil and name the regions associated with it in
India.

Or
Write some Characteristics of Durg-Bastar Iron-ore belt.

Q33. The Indian constitution provides three lists to distribute the legislative power. State any
two subjects that are included in the union list. In which list the subject "Education™ is
included and why ?

Or
What is federalism? What are differents types of federalism?

Q34.What are different terms of Credit? Define Collateral.
Or
Define formal and Informal sectors of credit with suitable example.



SECTION C [5x3=15]
Q35. Analyse the impact of mining activities on the local environment and the health of the
surrounding communities.

Or
Write some institutional and technological reforms introduced by government in order to
improve agriculture sector in India.

Q36. How would you evaluate Napoleon as an administrator who created a more rational and
efficient system? Elucidate with suitable examples.

Or
Analyse the decisions taken by the conservatives at the Congress of Vienna in the year 1815.

Q37.What are Self-help groups?How "Self-help groups eliminates poverty and empowers
women.

Or

Classify different sectors of economy on the basis of economic activities taking place.
SECTIOND

Map Skill-Based Question. [1x3=3]

@ On the outlined map of India locate and label any 3 of the following with symbols.

(b) A coal mine in Tamil Nadu associated with the extraction of lignite-coal.

(©) A dam built on river Chenab in India.

(d) A largest natural major seaport located at Andhra Pradesh.

(e) Noida software technology park.

U] On the same outline map of India locate and label any 3 of the following with s
symbols.

(9) A coal mine in Tamil Nadu

(h) A dam built on river Chenab in India

Q) A largest natural major seaport located at Andhra Pradesh

() Noida software technology park.






ENGLISH

Answer the following questions by choosing the correct option.  (1x40=40)
Q38. The rainbow long before his friends reached the terrace.

a) vanishes

b) will vanish

¢) had vanished

d) had been vanished

Q39. He had to limp his one foot on his way back because he was injured.
a) off
b) on
c)in
d) aside

Q40. He was so confused that he couldn’t decide about it way.
a) any
b) right
c) left
d) so

QA41. The players were so involved in the game they lost track of time.
a) while
b) after
c) during
d) that

Q42. The fish that lived in deep seas were than the rest of the fishes.
a) poison
b) most poisonous
C) more poisonous
d) poisoned

Q43. Choose the word with the correct spelling.
a) Onematopoeia
b) Onometapoeia
c¢) Onomatopoeia
d) Onomeotopoeia

Q44. Which of the following words means ‘a cure for all ills’?
a) Epidemic
b) Didactic
c) Panacea
d) Diction

Q45. Choose the correct term to fill the blank in the following sentence.
I never believe

a) a child’s play

b) a bosom friend

¢) a laughing stock

d) a cock and bull story

Q46. Choose the correct Indirect Speech of the sentence given below.
The man said to the beggar, “What do you want?”
a) The man asked the beggar what did he want?
b) The man said to the beggar what he wanted.
c) The man asked the beggar what he did want.
d) The man asked the beggar what he wanted.



Q47. Which of the following is correct?
a) The poet and the novelist is dead.
b) The poet and novelist is dead.
¢) The poet and novelist are dead.
d) The novelist with the poet are dead.

Q48. Complete the following sentence using the correct modal.
You laugh at his mistake.
a) can’t
b) shouldn’t
¢) couldn’t
d) won’t

Q49. Find out which part of the following sentence has an error.
a) It is earth’s
b) magnetic field
c) that made
d) a compass works.

Q50. Change the voice of the following sentence.
This news shocked me.
a) | was shocked by this news
b) 1 was shocked with this news.
c) | was shocked at this news.
d) I was shocked to this news.

Q51. Rearrange the following words / phrases to make meaningful sentence by choosing the
correct option.
P: was injured in
Q: accident near Dausa
R: yesterday Hema Malini
S:acar
a) RPQS
b) RPSQ
c) QSRP
d) QSPR

Q52. Choose the correct synonym of ‘Dexterity’.
a) Clumsiness
b) Skill
c) Lack
d) Inability

Q53. Choose the correct antonym of ‘Fortitude’.
a) Diffidence
b) Promising
c) Challenging
d) Creative

Q54. ‘With best regards’ is used in which part of a formal letter?
a) Heading
b) Opening
¢) Closing
d) Body



Q55. Where should one write the date in your letter?
a) Below sender’s address
b) Above sender’s address
c) Below recipient’s address
d) Above subject line

Q56. | spent money | had.
a) a little
b) few
c) the little
d) little

Q57.My mother, along with others, worried.
a) were
b) are
c) have
d) was

For questions 1 to 5, choose the correct option to fill in the blank.
Q58. She taking extra classes in the evening the weekend.
a) has
b) was
C) were
d) have

Q59. Internal dispute will the downfall of the community.
a) haste
b) hasten
c) hasting
d) hasted

Q60. He many foreign places before he returned home. Now he is working
for the welfare of his remote village.
a) had seen
b) have been seen
C) seen
d) was seeing

Q61. 1 reached the railway station before the train
a) shall have, arrives
b) will be, arrives
c) shall have, arrived
d) will, arrive

Q62. “I have five hundred rupees” means I have not more than five hundred
rupees with me.
a) hardly
b) some more
c) only
d) more

Q63. Choose the word with the correct spelling.
a) Teatotaller
b) Teatotallar
c) Teetotaller
d) Teetotaler



Q64. Which of the following words means ‘Putting off for tomorrow what can be done
Today’?
a) Proclamation
b) Procrastination
¢) Profanation
d) Proliferation

Q65. The court declared the allotment of plots in the lottery.
a) null and void
b) in making off
¢) bury the hatchet
d) a hard nut to crack

Q66. Choose the correct Indirect Speech of the sentence given below.
The teacher said to us, “The earth moves round the sun.”
a) The teacher told us that the earth moved round the sun.
b) The teacher told us that the earth moves round the
c) The teacher taught us that the earth moved round the sun.
d) The teacher told us that the earth had moved round the sun.

Q67. Which of the following is correct?
a) He was astonished at his success.
b) He was astonished in his success.
c) He was astonished on his success.
d) He was astonished for his success.

Q68. Complete the following sentence using the correct modal.
She to arrive at any moment but she couldn’t make it possible due to some
security issues.
a) should
b) might
C) may
d) ought

Q69. Find out which part of the following sentence has an error.
a) Originate in Ethopia, coffee
b) was drunk in the Arab
c¢) world before it
d) came to Europe.

Q70. Change the voice of the following sentence.
Bring a glass of water.
a) A glass of water should have been brought.
b) Let a glass of water be brought.
¢) A glass of water is brought.
d) A glass of water was brought.



Q71. Rearrange the following words / phrases to make meaningful sentence by choosing the
correct option.
P: approval for setting
Q: the Union Cabinet
R: up the seventh Pay Commission
S: gave its
a) PQSR
b) SRPQ
c) QSPR
d) RQSP

Q72. Choose the correct synonym of ‘Decrepitude’.
a) Coolness
b) Feebleness
c) Strength
d) Concentration

Q73. Choose the correct antonym of Perspicacious’.
a) Perceptive
b) Astute
¢) Humble
d) Ignorant

Q74. What is written on the top of a formal letter on the left side?
a) Sender’s address
b) Receiver’s address
c) Date
d) Salutation

Q75. Which of these is not a part of letter?
a) Date
b) Greeting
¢) Photo
d) Signature

Q76. After her long illness Ridhima is trying her best to her loss in study.
a) make up for
b) do away with
C) pass off
d) give out

Q78. Bread and butter what the poor want.
a) are
b) has
c)is
d) has been



